





    

    




    









    問題
    [image: ]













    問題１
    [image: ]













    問題１の解
    [image: ][image: ]













    問題２
    [image: ]













    問題２の解
    [image: ][image: ]













    問題３
    [image: ]













    問題３の解
    [image: ][image: ]







OEBPS/image/397F0CE8-7F2B-11E2-A6FF-113BCD288735_l.jpg
0 80 147150 235 280 4
190

AHBTIZ[E, ¥'57&Y280 A TF LT
20T, BEZHFELI-DI(E, 280—9
0=190% MEETY,

Ko T R—hQABHETIZEE- TV
EfL. 190—150=40% TY,





OEBPS/image/362231D8-7F2B-11E2-8826-0E3BCD288735_l.jpg
R (2)

R—rQIEBETIZA S EFEE>TLVEL
T=h,

0 80 147150 235 280 %





OEBPS/image/37D7A5C6-7F2B-11E2-ADF1-4424058D85C2_l.jpg
2% (2)

R—rQlE, 1505 T45km E> T
20T, (QOEE—IIDEE) x 150
=45 ERTEMNTE,
QDEE=0. 3+0. 1

=0. 4 (km/5) EDLMYET,
R—bQABEI N SARTATH0(2H
MBERIL. (0. 4+0. 1) x BRS
=45km &Y. 45+0. 5=90(%)
EhhWET,





OEBPS/image/3AF3357C-7F2B-11E2-B5FC-4324058D85C2_l.jpg
FARE(3)

R—rPEQAZE B ICHEST=D(F.
ABTANSEIkmDHE R T H

A
0 80 147150 235280 %






OEBPS/image/33D00734-7F2B-11E2-AC73-143BCD288735_l.jpg
BEQ)

R—FPI&. 809 T64km LY, 455
T45kmTFYET,

RE BRI =EDY &Y,
(PORE—IIDEE) x 80

=64 - ®

(POERE+IDEE) x 45

=45 Q) ERTILNTEFT,
Km

\1\
%

Y
1N

0 80 147150; 235 280 %
|
190






OEBPS/image/327BE1DC-7F2B-11E2-9D55-123BCD288735_l.jpg
PEC)
H— PO TORE B Flkm
TIh

0 80 147150 235280 %





OEBPS/image/34EA7942-7F2B-11E2-B771-D2EEFEDA975F_l.jpg
D&Y, POIEE—)IIDEE
=0.8 (km/%) @

Q&Y. POEE+IDEE
=1 (km/%) =@

QL@DMEHLY.

POEE=(14+0. 8)+2=0. 9
(km/%})=0. 9X60=54 (km/h)

ERDJHENTEET,

F DTN OEEE,
0.1 (km/%) TY,





OEBPS/image/302D7B0C-7F2B-11E2-8EB5-D1EEFEDA975F_l.jpg
R—rPEQIE1BkmIFHENTNDD T,
FhEN8Kkm, SkmEATEECATH
K3TENDIVET,

F£oT HESDIE,

ABTH 532+ 8=40km

DEZHTT,





OEBPS/image/31480E58-7F2B-11E2-AFAD-133BCD288735_l.jpg
fRE

JIHZBR>TI T BIEICART, BT, C
BT BYET

TOI571%, BEDRLEDR—IP,
Qi JIIE EoYFotYLT-kkF%
RLTWET , R—MP, QDEKTD
FESLNNOFNDESE, ThTh
—EELTROMIZERLGEL,

1
i
o,
H
1
1
1
!
1
1
i
|
I

A H
0 80 147150 235 280 %73





OEBPS/image/cover-image.jpeg
BHMOTHEOINIEY Y —X
No. 20

RKE






OEBPS/image/3CA66862-7F2B-11E2-85B7-0F3BCD288735_l.jpg
2% (3)

R—IPIX 15053 CABTE HFL T, 1
Q0N ETORMIARTAS

40x% (0. 9—0. 1)=82km D&,
Fiihb, BETET 45—32=13km
DECHETEHET,

1905 12 B ER—bQh'BETE

0.44+0. 1=0. 5 (km/%) THHEL

EXS

R—FPILO0. 8 (km/%) TLoTEE

T
L5FTORBICECEOYD L.

FEEDLIZEHLL,

0.8:0. 5=8:5 DEIETHEHFET,





